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2023
BUSINESS MATHEMATICS AND STATISTICS

Full Marks : 100
Pass Marks : 30

Time : 3 hours

The figures in the margin indicate full marks for the questions

ALLOTMENT OF MARKS
Q. No. 1 carries 1 mark each : 1x8= 8
Q. No. 2 carries 2 fnarks each . 2x5=10
Q. No. 3 carries 3 marks each : 3x5= 15
Q. Nos. 4-10 carry 5 marks each : 5x7 = 35
Q. Nos. 11-14 carry 8 marks each : 8x4 = 32

Total = 100
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1. Answer the following as directed :

wore WA TRTHIpIIes Tas o
() 1 mile = ___ yards.

19 = =Rl

(b) Which is greatér?
6:110r 7:17

CFICH! 1T 2 |
6:11@#7:17

(c) Area of a rhombus is

R GRIELA_ 1

(d) Write True or False :
e (TS o

1x8=8

( Fill in the blank )

SRSl

( Fill in the blank )

( A 3R [ F)

log, m =log, mxlog, b

(e What are the coordinates of the origin in coordinate

geometry?
AT R 1 R gee ki

() A sample survey is less expensive than a census survey.

( Write True or False )

1 2ifoef ARPHT 7o)l 91T IwfoelT F TR = |

(377 3 =pTe; foran )

(g) What do you mean by primary data?

o w erca 1 @12

(h) Define classification.
AP e o
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2. Answer the following questions : | 2x5=10

O PP T fone ,

(a) If x:5:8=2:y:4, then find the value of x and y.
ﬂﬁx:5:8=2:y:4, @(Sny?Wﬁ‘ﬁWl

(b) Find the distance between the pomts (3 -5) and
-2, 6).
B, -5) = (-2, 6) RY R 7% ey 311

(c) Express 0-27 in the form £.
. q

0.27 3 £ were ot |
q

(d) If the length and breadth of a rectangle are 4 cm and
6 cm respectively, then find its perimeter.

?Iﬁuﬂﬁw%ﬂmﬁ?m4cmW60m‘@,
R~ ey 3911

(e) Simplify :
e ¥4 ¢
xmt+2n  ,.3m-8n
xOm—-6n

. 3. Answer the following questions : 3x5=15

(@ If x:y=3:2, then fihd the value of (4x ~2y): (x +y).
Mx:y=3:2, m(4x-2y):(x+y)§mﬁ‘fﬁ$ml
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(b)

()

(d)

(e)

(4)
Or / 7%
1.1,

Divide ¥ 1,260 between 4, Band Cin the ratio = : = %
11 1 '

1, 260W?FA BE® CI &S = : — —wqm-\s@mwu ~

56

A table with marked pnce ¥ 1,600 is sold for ¥ 1,280,
after allowing a certa.in discount. Find the rate of
discount.

1,600 531 foilRe Y79 (G @ @aﬁﬁ 1280mﬁ®w
27 | R W R

The base of an isosceles triangle is 12 m and its
perimeter is 32 m. Find its area.

51 eI fape o 12mwm°rﬁfa32m |R A
Refg w111

Solve (Y F41) :
J5x-1-5= -—'x
Prove that /2 is an irrational number.
21 1 (/2 BT SeIRTT TR |
Or / &
Solve (Y F41) :
15x| >3

4. Answer either (a) or (b) :
(@) % (b) T TSI -

(4

/147

A bicycle seller allows 25% discount on marked price
and makes a profit of 20%. What was the marked price
of the bicycle on which he gains ¥ 30?

- & SiEF oA RS T ete 25% (R e RE

TR ficr W% 20% e IR | B W Ry +01 TS (o8
30 531 771 IR |



(5)

(b) Water flows from a pipe of 7 cm in diameter at the rate -
of 1 litre per second. How many litres of water would
flow out per hour?

awnmwcwmvmmaﬁmwlﬁmﬁﬁmk
muwﬂwmﬂﬁmvvr»

5. Answer either (a) or (b) : 5
(a) 99 (b) 7 T f

(a) A man sells his TV at a loss of 10%. If he sells it for
¥ 1,500 more, he would have gained 5%. Find the cost
price of the TV.

& TR 10% ETeeee odq KRG RE sRe 1 3 o
1,500 791 @fRe cfbeeeeres, o8 S%WmmmlﬁPtBﬁ
ﬁTTﬂ‘lﬁ‘fﬂWI

(b) The area of a circular garden is 22176 m?. How long

a man will take to go round it 10 times at a speed
of 2:2 km per hour?

937 JERT IR R TH 22176 m?. 75 2-2 R, @O
10 *IF MR o g R 571 AR 2

6. Discuss the scope of statistics in business and commerce. 5
RS 2R R AR Rcs seesa <31 |
| Or / &
What are the limitations of statistics?
oz Remy Rgrmertz B &2

7. If the point C(-4, 1) divides the line segment joining the
points A(2, -2) and B in the ratio 3:5, then find the
point B. 5
MW C(-4,1) RYBR 3:5 wpee A2, -2) ¥ B oI
@93 Ree 333, (o B R gmice Bfvean )
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8. If ¥a +¥b+%c =0, then show that (a+b+c)® =27abc.
3% Ya +¥b +¥c =0, @ o @ (@ + b+ c)® = 27abe.

9. The diameter of a garden roller which is 80 cm long is
1-40 m. If it takes 600 complete revolutions to level a
playground, find the cost of levelling the ground at
60 paise per square metre. ‘ /

80 cm W9 9F 1-40 m IFRAZ GBI EEARIE (A-RITE T 4=
IR 600 wwmaﬁwﬁ%ﬁ—soﬁwmmaﬁmmﬁ

(O ST 9] P 336 el 3911
Or / F&
Prove that log;o2 lies Between % and —é-
| T c_trlogmz,%w%ammn |

10. Discuss the merits of sainplixig over census method.
Ao oI SToole STISLTF %P1 FRYPTR ST 241 |
| Or / %
Discuss the different sources of collecting secondary data.

2@ *RER o wrae IR <1 Ride Seopryza Raca wieamsan w411

11. (@) Evaluate :
ﬁ‘fﬂ Ralk

\/6+\/6+\/-6+_—

(b) Distinguish between questionnaire and schedule.
2PIT I SPIOR TS N1 Bt |
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or/Tkw . e

Define the followmg
oS RATCIRT A fora

(i) Hemlsphere
SHETF

(ii) Marked price
- FRe@m
12. (a) Deﬁne the followmg | 2+2=4
(i) S_ample and population
2o S PR |
(i) Tabulation of data
OUF B
(b) Explain the different parts of a table. 4
C o qyH (bR RfSE e i 41 |
13. (@) Draw a percentage bar diagram to’ represent the

following data : S
Wtsmﬁmw G X1 I (Y KA 91

Rems of expendzture , Expendtture (m ?)
I £ i % (tre)
Food (3m1) 150
Clothing (3%) 125
Rent (S781) - 25
Light and fuel (Ff%5 e %) 10
Others (S=F0) 190
(b) What are the uses of diagrams and graphs? 3
foa W (o19-a3 TR R R 2
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14. Prepare a frequency distribution table from the following
data taking the class intervals as 21-30, 31-40, -+, etc. :

21, 20, 55, 49, 48, 46, 36, 54, 42, 30.

29, 42, 32, 40, 34, 31, 35, 37, 52, 44

39, 45, 37, 33, 51, 53, 52, 46, 43, 47

41, 26, 52, 48, 25, 34, 37, 33, 36, 27

54, 36, 41, 33, 23, 39, 28, 44, 45, 38
Also find (a) the frequency density of each class and
(b) percentage frequency between 31-40. - 4+2+2=8

N BYR R 99 TR e SRR g 9 | IR SRR
21-30, 31-40, --- G I A’ :

21, 20, 55, 49, 48, 46, 36, 54, 42, 30
29, 42, 32, 40, 34, 31, 35, 37, 52, 44
39, 45, 37, 33, 51, 53, 52, 46, 43, 47
41, 26, 52, 48, 25, 34, 37, 33, 36, 27
54, 36, 41, 33, 23, 39, 28, 44, 45, 38

(a) 2B TR IRFRS! g [T 91 9% (b)) 3140 F To© I
BASIEE R G2 I CROE o

Or / 7%
Write a note on the main points involved in the
construction of frequency distribution tables. Also define
class interval and class limits. 8

RIS Rt Sifere! 2ge Fedice I (=} T3 RS e/ e <oy
COrF1 ot | Aorce B S e i R sieear o |

* Kk
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